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vjpu;tUk; fy;tpg; nghJj; juhjug; gj;jpu rhjhuz jug;  

guPl;irf;Fj; Njhw;wTs;s khztu;fSf;fhd  

tpNrl ,lu;fhy nraw;wpl;lk; - 2021 

khjpup tpdhj;jhs; - I  
juk; - 11 Gs;spj;jpl;lk; fzpjk; - I 

gFjp - A 

01) 2.5 × 1000 𝑔 ............................................ (1) 

= 2500 𝑔 ................................................... (1) 

02) 3𝑥 = 15 

𝑥  =
15

3
 ......................................................... (1) 

     = 5 ........................................................... (1) 

03) 
1

𝑥−2
=  𝑥2 ...................................................... (2) 

04) 
1

𝑥
−  

1

2𝑥
 

=  
2−1

2𝑥
............................................................ (1) 

=  
1

2𝑥
 .............................................................. (1) 

05) 𝑥 = 70° + 50° ........................................... (1) 

   = 120° ...................................................... (1) 

06) 
8 ×12

6
 ............................................................... (1) 

=   16 ehl;fs; .......................................... (1) 

07) 3𝑥2 = 3 × 𝑥 × 𝑥 

6𝑥𝑦 = 2 × 3 × 𝑥 × 𝑦 .............................. (1) 

ngh. k. rp = 2 × 3 × 𝑥 × 𝑥 × 𝑦 

 =  6𝑥2𝑦 ...................... (1) 

08) 23 = 8 .......................................................... (2) 

09)  

 

  .... (2) 

 

 

10) 2(𝑥 + 4) − 5 

= 2𝑥 + 8 − 5 ............................................. (1) 

= 2𝑥 + 3 ..................................................... (1) 

11) 𝐴𝑁2 =  52 − 32 

     = 16  ................................................. (1) 

𝐴𝑁 = 4 𝑐𝑚  

𝐴𝐵 = 8𝑐𝑚 ................................................... (1) 

12) 𝑣 = 𝑢 + 𝑎𝑡 

𝑎𝑡 = 𝑣 − 𝑢 .................................................. (1) 

𝑡 =
𝑣−𝑢

𝑎
 ......................................................... (1) 

13) 3𝑥 − 1 ≤ 5 

3𝑥 ≤ 6  

𝑥 ≤ 2 ............................................................. (1) 

vz;fs; - 1, 2 ........................................... (1) 

14) 6, 7 ................................................................ (2) 

15) 𝑃𝑅 .................................................................. (2) 

16) 𝑎 = 4 

𝑎 + 3𝑑 = 13 ............................................... (1) 

3𝑑 = 9  

𝑑 = 3 ............................................................. (1) 

17) 𝐴 ∶ 𝐵 ∶ 𝐶 

2 ∶ 3  

   6 ∶ 5......................................................... (1) 

𝐴 ∶ 𝐵 ∶ 𝐶 =  4 ∶ 6 ∶ 5 ............................... (1) 

18) 2𝑥2 − 8 

= 2(𝑥2 − 4) ................................................ (1) 

= 2(𝑥 + 2)(𝑥 − 2) ................................... (1) 

19) 𝑥 + 2𝑥 + 90° = 180° .............................. (1) 

3𝑥 = 90°  

𝑥 = 30° ........................................................ (1) 

14.10.2021 

𝜺 

𝑨 𝑩 



 

fzpjk;  2 juk; - 11 
 

 

20) gbj;jpwd; 𝑚 = 1 .................................... (1) 

rkd;ghL 𝑦 = 𝑥 + 2 ............................... (1) 

21) 2 ×
22

7
× 𝑟 = 88 ........................................ (1) 

      𝑟 =
88

2
×

7

22
 

        = 14 𝑐𝑚 .................................. (1) 

22) gf;fq;fs; 𝑜𝑟 Nfhzq;fs;  ............... (1) 

gug;gsit 𝑜𝑟 xd;iw xd;W .......... (1) 

23)  

  ........................... (2) 

 

 

24) Gwf;Nfhzk; = 180° − 135° 

           = 45° ................................ (1) 

gf;. vz;zpf;if =  
360

45
 

              = 8 ........................... (1) 

25)  

 

 

  ........................... (2) 

 

 

 

(25 × 2 = 50 Gs;spfs;) 

gFjp - B 

01) (i) 1 −
2

5
 

 
3

5
 .............................................................................................................................................................. (2) 

(ii) 
3

5
×

1

3
 

 
1

5
 .............................................................................................................................................................. (2) 

(iii) 
2

5
+

1

5
 

 
3

5
 .............................................................................................................................................................. (2) 

(iv) kPjp = 1 −
3

5
 

      =  
2

5
 ............................................................................................................................................. (2) 

(v) 
2

5
 gq;F gzk; = & 3000 

 / Muk;gj;jpypUe;j gzk; =  
3000

2
× 5 

   = & 7500 .......................................................................... (2) 
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02) (i) 
1

4
 × 2𝜋𝑟 

 =  
1

4
 × 2 × 

22

7
 × 14 

 = 22 𝑚 ................................................................................................................................................ (3) 

(ii) 34 − 14 

 = 20 𝑚 ................................................................................................................................................ (2) 

 

𝑩 

𝑨 

𝑫 

𝑪 

𝟒𝟎° 

𝟒𝟓° 

𝑨 𝑩 

𝑪 

𝑿 

𝟒 𝒄𝒎 

Nfhz ,U$whf;fp 
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(iii) 20 × 14 

 = 280 𝑚2............................................................................................................................................ (2) 

(iv) 
1

2
× 𝐴𝐸 × 20 = 70 

 𝐴𝐸 = 7 𝑚 ........................................................................................................................................... (3) 
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03) (a) (i) & 
12500

5
× 2 

 = & 5000 ............................................................................................................................. (2) 

 (ii) & 12500 + 5000 

  = & 17500 .......................................................................................................................... (2) 

 (iii) & 
120

100
 × 17500 

  & 21000 ................................................................................................................................ (3) 

(b) & 
12

100
× 24000 ×

1

4
 

 = & 3 × 240 

 = & 720 ........................................................................................................................................... (3) 
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04) (i) jkpo; ..................................................................................................................................................... (2) 

(ii) 𝑥 + 120° + 90° + 110° = 360° 

 𝑥 = 360° − 320° 

   = 40° ................................................................................................................................................ (2) 

(iii) 60 Ngu; ............................................................................................................................................... (2) 

(iv) 180 Ngu; ............................................................................................................................................. (2) 

(v) 10 Ngu; ............................................................................................................................................... (2) 
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05) (i) 24 .......................................................................................................................................................... (2) 

(ii) ,U jhaf;fl;ilfspYk; xNu ,yf;fk; Njhd;Wjy; .................................................... (2) 

(iii) 𝑃(𝐴) =
4

24
=  

1

6
  ............................................................................................................................... (2) 

(iv)    .......................................................... (2) 

 

 

 

 

   

 

(v) ,y;iy  ............................................................................................................................................. (1) 

 ,U epfo;r;rpfSf;Fk; nghJthf xU %yfk; cz;L  ............................................ (1) 

10  

𝑨 

𝑩       

      

      

      𝟏 

𝟐 

𝟑 

𝟒 

𝟏 𝟐 𝟑 𝟒 𝟓 𝟔 rJuKfpj; 
jhaf;fl;il 

ehd;Kfpj; 
jhaf;fl;il 
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fzpjk; - II 

gFjp - A 

01) (a) (i) & 9200 − 8000 

  = & 1200 ............................................................................................................................. (2) 

 (ii) & 
5

100
 × 8000 

  = & 400 ............................................................................................................................... (2) 

 (iii) 
1200

400
 

  = 3 Mz;Lfs; ..................................................................................................................... (2) 

(b) (i) 
50000

25
= 2000 .......................................................................................................................... (2) 

 (ii)  & 4.50 × 2000 

  = & 9000 ............................................................................................................................. (2) 
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02) (a) (i) 𝑦 = 12 − 2 × 1 − 3 

  =  −4 ........................................................................................................................................ (1) 

 (ii)  

 

 

 

 

 

    .......... (3) 

 

 

 

 

 

 

 

 

 

(b) (i) (1, −4) ...................................................................................................................................... (2) 

 (ii) −1 < 𝑥 < 3 ............................................................................................................................ (2) 

 (iii) −1, 3 ........................................................................................................................................ (2) 

10  

−𝟒 

−𝟑 

−𝟐 

−𝟏 

𝟎 

𝟏 

𝟐 

𝟑 

𝟒 

𝟓 

−𝟏 −𝟐 −𝟑 −𝟒 𝟏 𝟐 𝟑 𝟒 𝟓 

𝟔 

𝒙 

𝒚 
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03) (a) (i) 𝑥 + 𝑦 = 16_____ (1) 

 𝑥 = 3𝑦_____ (2) ...................................................................................................................... (2) 

 (ii) (1) ,y; gpujpapl 4𝑦 = 16 

   𝑦 = 4 

  (2) ⇒ 𝑥 = 12 ....................................................................................................................... (2) 

     vz;fs; 4, 12 ............................................................................................................... (1) 

(b) 𝑥2 − 4𝑥 − 2 = 0 

 𝑥2 − 4𝑥 = 2 

 𝑥2 − 4𝑥 + 4 = 2 + 4 

 (𝑥 − 2)2 = 6 ...................................................................................................................................... (2) 

 𝑥 − 2 = ±√6   

  =  ± 2.44  .............................................................................................................................. (1) 

 (+) ⇒ 𝑥 = 4.44 ....................................................................................................................... (1) 

 (−) ⇒ 𝑥 = −0.44 .................................................................................................................... (1) 
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04) (i) 60 − 80  .............................................................................................................................................. (1) 

(ii)  
ngwg;gl;l 

Xl;lq;fs; 

eLg;ngWkhdk; 

(𝑥) 

Nghl;bfspd; 

vz;zpf;if (𝑓) 
𝑓 × 𝑥 

00 − 20 10 1 10 

20 − 40 30 3 90 

40 − 60 50 5 250 

60 − 80 70 8 560 

80 − 100 90 2 180 

100 − 120 110 1 110 

 (2) ∑𝑓 = 20 ∑𝑓𝑥 = 1200 (1) 

  (1) (2) 

     

(iii) ,il =  
1200

20
= 60  ...................................................................................................................... (1) 

(iv) 60 × 50 = 3000 Xl;lq;fs;  ..................................................................................................... (2) 

10  

05) (a) (i) 
2

3
 ×  

22

7
 × 21 × 21 × 21 

 = 19404 𝑐𝑚3 ....................................................................................................................... (2) 
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 (ii) 
22

7
 × 7 × 7 × 10 

  = 1540 𝑐𝑚3 ........................................................................................................................... (2) 

 (iii) 19404 − 1540 𝑐𝑚3 

  = 17864 𝑐𝑚3 ......................................................................................................................... (1) 

(b) 𝐴 =  
√25.42 ×4.23

0.536
  

 lg 𝐴 =  
1

2
lg 25.42 + lg 4.23 − lg 0.536 ..................................................................................... (1) 

  =  
1

2
 × 1.4051 + 0.6263 − 1. 7292 ............................................................................... (2) 

  = 1.5997 ................................................................................................................................. (1) 

 𝐴 = antilog 1.5997 

   = 39.78  ......................................................................................................................................... (1) 
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06) (i) 8 𝑘𝑚  .................................................................................................................................................... (1) 

(ii) 10 epkplk; ........................................................................................................................................ (1) 

(iii) fjp =  
8

10/60
 

  = 48 𝑘𝑚ℎ−1 ........................................................................................................................... (3) 

(iv) fjp =  
8

15/60
 

  = 32 𝑘𝑚ℎ−1 ........................................................................................................................... (3) 

(v) Neuk; =  
8

72
× 60 epkp 

  =  
20

3
= 6

2

3
 epkp ............................................................................................................. (2) 

10  

gFjp - B 

07) (a) (i) 5, 8, 11 ................................................................................................................................... (1) 

 (ii) 𝑇𝑛 = 𝑎 + (𝑛 − 1)𝑑 

   = 5 + (𝑛 − 1) × 3 

   = 3𝑛 + 2 ......................................................................................................................... (2) 

 (iii) 𝑇20 = 3 × 20 + 2 

   = 62 ............................................................................................................................... (1) 

 (iv) 𝑠𝑛 =  
𝑛

2
(𝑎 + ℓ) 

  𝑠20 =  
20

2
(5 + 62) 

   = 670 .......................................................................................................................... (2) 
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(b) (i) 𝑎 = 4 ......................................................................................................................................... (1) 

 (ii) 𝑟 =
8

4
= 2 ................................................................................................................................. (1) 

 (iii) 𝑇𝑛 =  𝑎𝑟𝑛−1 

  𝑇11 = 4 × 210 

   =  212 ............................................................................................................................ (2) 
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08)  

(v) ∆ 𝐵𝐶𝐸 ............................................. (1) 

 rkhe;juf; NfhLfSf;fpilapy; 

xNu mbapy; mike;j 

Kf;Nfhzpfs; ............................. (1) 

 

 

 

 

 

09) juT :- 𝐴𝐵𝐶𝐷 ,izfuk; 

  𝐴𝐷̂𝐶, 𝐵𝐶̂𝐷 vd;gtw;wpd; ,U $whf;fpfs; 𝐸 ,y; re;jpf;fpd;wd. ................ (1) 

ep.Nt :- 𝐶𝐸̂𝐷 = 90° , 𝐴𝐷 = 𝐴𝐸 , 𝐴𝐸 = 𝐵𝐸 ........................................................... (1) 

epWty; :- 𝐴𝐷̂𝐶 + 𝐵𝐶̂𝐷 = 180° (Ne. Nfh. $) 

  / 𝐸𝐷̂𝐶 + 𝐸𝐶̂𝐷 = 90° 

  / 𝐶𝐸̂𝐷 = 90° ............................................... (3) 

 

𝐸𝐷̂𝐶 = 𝐴𝐸̂𝐷 (x.tp.Nfh> 𝐴𝐵//𝐶𝐷) 

/ 𝐴𝐷 = 𝐴𝐸 ................................................... (2) 

 

,t;thW 𝐵𝐶 = 𝐵𝐸 

Mdhy; 𝐴𝐷 = 𝐵𝐶 

/ 𝐴𝐸 = 𝐵𝐸 ............................................................................................................................ (3) 

10  

10) (a) 1 ∶ 50000 

1 𝑐𝑚  50000 𝑐𝑚 

8 𝑐𝑚  400000 𝑐𝑚 = 4 𝑘𝑚  ................................................................................................ (2) 

 

𝑨 

𝑬 

𝑪 

𝑫 𝑩 

(𝟐) 

(𝟏) 

(𝟐) 
(𝟑) 

𝟓𝒄𝒎 

𝟖𝒄𝒎 

𝟔𝟎° 

𝑬 

𝑫 

𝑨 𝑩 

𝑪 
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(b) (i)  

 

 (ii) 𝐴𝐶 = 10 𝑐𝑚 ................................. (1) 

 / J}uk; 100 𝑘𝑚 ....................... (1) 
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11) (i) 𝑅𝑂̂𝑄 = 60° ........................................................................................................................................ (1) 

(ii) ∆ 𝑂𝑄𝑅 .................................................................................................................................................. (2) 

(iii) 10.4 𝑐𝑚 ............................................................................................................................................... (2) 

(iv) 𝑃𝑅̂𝑆 = 125° − 60° 

  = 65° ........................................................................................................................................ (2) 

(v) 𝑆𝑄̂𝑅 = 180° − (125° + 30°) 

  = 25° ........................................................................................................................................ (2) 

 / 𝑂𝑄̂𝑆  = 60° − 25° 

   = 35° ................................................................................................................................... (1) 
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12) (a) (i)  

 

 

 

   .................................................. (3) 

 (ii) 12 Ngu; .................................................................................................................................... (2) 

 (iii) 34 Ngu; .................................................................................................................................... (2) 

(b) 
3

9
=

1

3
  .................................................................................................................................................... (3) 

10  

𝟑𝟎° 

𝟏𝟐𝟎° 

𝟖 𝒄𝒎 

𝟔 𝒄𝒎 

𝑨 

𝑩 

𝑪 

(3) 

(3) 

t 

t 

𝟒 𝟏𝟐 𝟏𝟖 

𝟔 

(𝟑𝟎) 

𝜺 

fhu; 
itj;jpUg;gtu;fs; 

Nkhl;lhu; irf;fps; 
itj;jpUg;gtu;fs; 

(𝟒𝟎) 


